
Antwoordenblad 
Rood 1 – waar  

 2 – niet waar  

 3 – waar  

 4 – niet waar  

 5 – waar  

 6 – niet waar 

 7 – waar  

Geel 1 – ontledingsreactie  

 2 – niet waar  

 3 – samenstellingsreactie  

 4 – waar  

 5 – waar  

 6 – substitutiereactie  

Groen 1 – 2Al2O3  4Al + 3O2 

 2 – 4Na + O2  2Na2O 

 3 – P4O10 + 6H2O  4H3PO4  

 4 – 2Al  

 5 – neen  

 6 – 3O2 

 7 – O2 

Blauw  1 – analysereactie  

 2 – substitutiereactie  

 3 – substitutiereactie  

 4 – B  

 5 – AC  

 6 – synthesereactie  

Paars  1 – niet waar 

 2 – waar  

 3 – waar  

 4 – synthese  

 5 – waar  

 6 – waar  

 7 – endo-energetisch  

Wit  1 – fysisch  

 2 – chemisch  

 3 – wet van behoud van atomen  

 4 – wet van behoud van massa 

 5 – wet van Lavoisier  

 6 – wet van Dalton  

 


